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Question Paper is in English language. Candidate can
answer in English language only.
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There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.
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PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only, supplied with the Question Paper, as per the
instructions contained therein. PART ONE is NOT to be
answered in the answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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1.1

1.2

PART ONE

(Answer all the questions.)

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”
answer sheet supplied with the question
paper, following instructions therein.

(1x10=10)

When Overloading does not occur ?
(A) More than one method with same
name but different method signature
and different number or type of
parameters

(B) More than one method with same
name, same signature but different
number of signature

(C) More than one method with same
name, same signature, same number
of parameters but different type

(D) More than one method with same

name, same number of parameters
and type but different signature

Multiple inheritance means :

(A) One class inheriting from more super

classes

(B) More classes inheriting from one
super class

(C) More classes inheriting from more
super classes
(D) None of the above

1.3

1.4

1.5

1.6

Analyze the following code :

public class Test {

public static void main(String[] args) {
int[] x = new int[5];

it i;

for (i = 0; i < x.length; i++)

xfi] =1

System.out.println(x[i]);

1

A) The program displays 012 3 4

B) The program displays 4

C) The program has a runtime error
)

o~ o~ o~ o~

)

None of the above

Package of drawstring() method is :
(A) java.applet
(B) java.io
(C
(

) javax.swing
D) java.awt

Select the exception class from among the
following which is part of the java.lang
package :

(A) EOF Exception

(B) Mal Formed URL Exception

(C) Run Time Exception

(D) IO Exception

What is multiplicity for an association in
UML ?

(A) The multiplicity at the target class
end of an association is the number
of instances that can be associated

with a single instance of source class.
(B) The multiplicity at the target class
end of an association is the number
of instances that can be associated
with a number instance of source
class.
All the mentioned.

None of the mentioned.

©)
(D)

SPACE FOR ROUGH WORK

A10.1/B2.51-R4-07-19



1.7

1.8

1.9

1.10

In UML diagrams, relationship between
object and component parts is represented

by :

Ordination
B) Aggregation
Segregation

Increment

What is it called if an object has its own
lifecycle and there is no owner ?

(A) Aggregation
(B) Composition
(C©) Encapsulation
(D) Association

Use the following declarations and
initializations to evaluate the Java

expressions:
(initially =3, j=7, k=11 (all integer))

++k-i+ i+ i++

(A) 16
(B) 14
(C) 13
(D) 15

A top level class may have which one of
the following access modifiers :

(A) Package
(B) Private
(C) Public
(D) Protected

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and ENTER in the “OMR” answer sheet
supplied with the question paper,
following instructions therein.
(1x10=10)

A protected member of a class can be
accessed from its derived class.

An abstract class cannot have non-
abstract methods.

A class which is implementing an
interface must implement all the methods
of the interface.

A finally block can be executed before the
catch block but after the try block.

Can 8-byte long data type be automatically
type cast to 4 byte float data type.

Private constructor ensures multiple
instances of a class exist at any point of
time.

Garbage Collection is manual process in
Java.

Applets are executed by the console-based
java run-time interpreter.

Cohesion is the degree to which one class
is connected to or relies upon other classes.

groupCount reports total number of
Capturing groups.
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3. Match words and phrases in column X with the closest related meaning/word(s)/
phrase(s) in column Y. Enter your selection in the “OMR” answer sheet supplied with

the question paper, following instructions therein. (1x10=10)
X Y
3.1 | Diagram depicts the life cycle of a Enumeration interface
single object
3.2 | A dialogue box is an example of a Finally
3.3 |If your method overrides one of its State diagram
superclass’s methods, you can
invoke the overridden method
through the use of the keyword
3.4 | All objects have a toString() method this
which is inherited from
3.5 [Panel is the immediate superclass of Component diagram
3.6 |Itis used for garbage collection finalize
3.7 |Class that is used to create multicast collections of objects
socket is
3.8 |In order to provide access to the super
tokens contained within a string
StringTokenizer class implements
3.9 [The List interface provides DatagramSocket
support for ordered
3.10| The block will execute even interface class
whether or not an Exception is
thrown is done through
Destructor
Object class
Applet class
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4.1

4.2

4.3

4.4

4.5

4.6

4.7

4.8

4.9

Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list
below. Enter your choice in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10=10)
A.| Classes B. | This C. | Polymorphism

D.| Java.awt E. | Interaction F. | Applets

G.| Static H. | Objects I. | Vector

J. | Exception K. | False L. | Nul

M.| Comments

are used to document a program and improve its readability.

Wrapped classes are classes that allow primitive types to be accessed as

Sequence diagrams and collaboration diagrams are known collectively as diagrams.

is an object that is generated when a run time error occurs.

The concept of is often expressed by the phrase “one interface, multiple methods”.

The class provides the capability to implement a growable array of objects.

Button, Checkbox and Label are sub-classes of class.

The most common reason for using the keyword is because a field is shadowed by
a method or constructor parameter.

are java programs, which are specifically made to run in a java enabled web
browser.

4.10 The default value of a boolean type is
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PART TWO

(Answer any FOUR questions.)

5. (a)
(b)
(©)
6. (a)
(b)
7. (a)

Write a Java Applet and classes to
find maximum number out of three
numbers entered by keyboard.

What is exception ? Explain
different kinds of exceptions in java.

What do you mean by constructors
and destructors in Java ?
(6+5+4=15)

Write a java program to print
factorial of numbers between 1 to n.
(n is entered by keyboard).

What is the difference between
method overloading and overriding
in java ? Give examples in support
of your answer.

(7+8=15)

What is the purpose of JDBC
drivers ? Explain the different types
of JDBC drivers ?

Differentiate between Sequence
Diagram and Collaboration
Diagram using examples.

In context of UML, define and
differentiate between Aggregation
and composition. (5+5+5=15)

Distinguish between Abstract class
and Interface with example.

Explain, how inter thread
communication is possible in java
multithreaded environments ?

What is Applet ? What is the main
difference between reloading and

restarting an applet ?
(5+5+5=15)

Explain any three of the following :

Vector class
Garbage collection

Access modifiers public, private,
protected

JVM and JIT
(5+5+5=15)

-00o0-
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